| dE/dx estimator 1 |

0.35

0.3

0.25

0.2

0.15

N
(@]
||||||||!||||n1III

C - Entries 2874
- : Mean 3.161
i N Std Dev 0.4821
r Entries 2882
[t - Mean 3.165
- Std Dev 0.4796
R A - Entries 1381
C Mean 3.192
R = IO (R U & StdDev | ‘?-.‘_‘?’F’i?
C : Entries 1471
Cooo H R Mean 3.186
o : Std Dev 0.4562

1¢

cl

O pF=rT

0.1
0.08f
0.06}

0.04}

S R T S-Sy S B S BTy

dE/dx, harm?2

Ratio

| dE/dx estimator 2 |

C " Entries 2874

C = Mean 2.901
Q.4 i bl Std Dev O.4756|3
Y § T T U T Entries 2882
035: Mean 2.905
: Std Dev 0.4762
O At § AR S S NI P 1
r Entrles 1381

- Mean 2.927

Std Dev 0.430T

Entries 1471

Mean 2.92

0.4281

Std Dev

34 5 6 7 8 9 10
dE/dx, trunc40

—=a— DOM_CKFFit_1000evt
—e— DQM_CKFREFit_1000evt
—— DQM_MKFitREFit_1000evt

.....................................................

i) ;
2 12k
m L

1

10 20 30 40 50 60 70 80

dE/dx number of measurements

Ratio

1.5k 11

0

—— DQM TESTOLHIT 1000evt
M TCTIaTCS ZOT= n CTTaTTS 2874
| Mean 12.74 oY1) ARSI SO OO SO Mean 0.866
Std Dev 4. 246 . Std Dev 1.029
Entries 2882 O S R A Entries 2882
Mean 12.71 : Mean 0.8616
Std Dev 4.261 .38 i Std Dev 1.025
Entries 1381 O.3F el Entries 1381
Mean 12.6 L Mean 0.9522
Std Dev 4114 Std Dev 1.055
""""""""""""""""""""""" : ] O S A
Entries 1471 Entries 1471
Mean 12.7 02 '''''''''''''''''''''''''''''''' Mean 0.9429
_____________________________________ Std Dev 4.058 Std Dev 1.049

....................................................

10 20 30 40 50 60 70 80
dE/dx number of measurements with saturation



	Contents
	Page 1


